Example 61.3

Problem Setup: The BC Government is conducting a survey on people's sentiments toward the natural gas pipeline being built. They have
sampled two different groups, NDP and Liberal supporters. Out of 224 NPD supporters sampled, 98 were in favor of the LNG pipeline. Out of 206
Liberal supporters sampled, 112 were in favor of the LNG pipeline. Is there sufficient evidence, at the 2% level of significance, to conclude that

there is a difference in the proportions of people who support the pipeline?
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